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A widow (whose husband’s lineage is entangled - 0%y NINYN
and 1s) of a [dough(y)] mixture

OVERVIEW

The X713 cites a 7Iwn, in which "7 and 2"27 testify that the widow of an
'M0%' is permitted to marry into 71373. There is a dispute between >"?v1 and
N1BoIN as to what consists an 70%Y.

- DYPINT DNIVY 'DIWIID 1Y DIVNPA WIS
“''w4 offers two interpretations as to the meaning of 110°¥ nin>X and both

of these explanations are lacking. They do not satisfactorily explain the term N8

70y, N9DIN goes on to explain why they are 2’17 —
- 950 P90 NA YNLIY YD NDIY MNIN NN IMN 21):‘,75 19999\ NNT

For we learn later in a Xn>12; ‘who is this 712 n1mbR’? The Xn>12 replies
‘all situations in which a ®»n pso was intermingled’; this concludes the citation

from the xn»"2.
- PODY NNYNIVY NNa TV VI’ 47!):1

And how is the term o0 (intermingled; mixed in) applicable because

she married this 717 Pp®. He is not y1°0; it is known that he is a %51 poo. The term
Y1’ means that somewhere in the genealogy there is a 9711 Poo intermingled; not that a
woman married a 9511 Po0.

mooIn asks an additional question on *"w7s:
= O PYY TV NNAYN DY RIHX TANR DTN DY Y9I NOIY PYUH PRT 1IN

"In 70y nasox Sy 7", there *"wA explains that if a %51 oo (a %91 o0 is one who is born from a marriage
between a 1715 and a woman who is a 177,773 290, etc.) marries and subsequently dies, his widow is the
70°Y naaR. In *p*o0 10 11"7, there >"wA offers a different explanation (in the name of 2%y 210 °"). A woman
was a nwa 20 and remarried to a 3772 within three months of the Pw17°) P90 (after her first husband died)
and bore a child of questionable lineage; whether he is a son of her original 50 divorced husband and
therefore he is 2w>; or if he is a son from her new husband; in which case he is a 9911 pod for perhaps the v3
was valid and she is a w13 and the child is a 5%, or there was no v3 (and she is an 711%X) and the child is
qw>. There is a Xp*90 90 on this child. The widow of this ‘child’ is an 70°¥ n1YR. It appears from >"w that
the term 770% is referring to the individual who is a 9911 (Xp°90) poo.

2 On the top of 2,7. See following 1"n 7"7 MooIN; see 7w 0"7An here.

* A 95m is an offspring of a relationship between a 772 and a woman who is forbidden to a 372, such as a
Y. A 991 poo is someone who may possibly be an offspring of this type of relationship

* In the (bottom) margin there is an additional question (seemingly from *"1n or likewise): 3¥ %51 by am
pvy b w PR. ‘And in addition, on the Y1 himself the expression v does not apply’.
According to >"w" the term 70°Y NIY2X means she married a 71 poo. Therefore 710y means a o1 poo. We
cannot refer to the 711 by saying that there was ¥l in him a %1 poo.
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And furthermore, the expression 70% is not applicable for one person;
rather the expression 170°Y is appropriate for a family —

= 922D NOOY INIYI NINY INIYI NIND NOIY MNIND DI (3,00 purrp) 1399INT
As the X ) states all countries are considered as an 9% (a doughy
mixture) compared to 'R, and ''X is an 79°» when compared to %22. All
countries have no pure lineage as *"X has; but rather their lineage is a ‘mixture’ of various
indiscernible types, like a dough which is a mixture of various ingredients. The X713 there
continues, the lineage of 922 is purer than even the lineage of >"X. This concludes the X713
there. It is evident from this &723 that the term 70°Y applies to a ‘mixture’ of different
elements that are intermingled among the populace at large and are not (necessarily)
discernable. This is in conflict with both of s""¥" interpretations.

Mmoo offers an additional difficulty with s""7 explanation:
- PPYYN Y2290 %1910 NYIDD NDIY 19N NN 530 NN *RNSDINI)

And we learnt in a Xn>»2 in the Xnoown; why did the 2201 rule that an
1o is disqualified from marrying into 713737 On account of the >p»®
19991 (plural) which are intermingled in the 70y —

- PYINDN 1INY 7Y 1PN ¥9990 A1)
And how is the concern of %%m spos0 (plural) applicable according to
these explanations that >"vA offered?! According to both explanations of >"wA, the
mInoX married one 991 po0; there is no issue with many 15911 *p°50!

mooIn offers his explanation of 70°Y NIMOX:
- S9N 93 PNYY 193991 PN 1393499 NN

And the *''9 and the X''2°9 are of the opinion —
= 099N P90 NN IX THN HHN POV DNA YNVIY NNIYNN NNP NDIYT
That the term 779° applies to a family in which one %% pso became
intermingled or that many 2991 32999 became intermingled with this family. It is
known that in a particular family (either one or) some of the people are 1791 *p°50;
however they cannot be identified with certainty —
- NDYOD POV NPy 7Y YU 2919
And therefore the X723 later considers this 770°Y' family’ as a Xp°o® poe; a

doubt within a doubt, meaning —
IND ON 192 299NV POD IMN NN ONX NN PAD NNAYNN 2310 THN D31

That each one from this 70°y family in which a (2°)%°1 (°)pp0 was

Sy ats PwrTh.
©291 mX 2°173 N2WH R"PAAR 3w Y.
7 On this Ty the XM comments that according to "1 a Xp*50 po0 is sufficient to be 7°n» a woman 719735,
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intermingled, there is a doubt (by 7"°2) whether he is the 5511 pso that was

intermingled with them or not. It is possible that he is not the 5%n po0 and
therefore 71757 7w>. Even if he is the %1 poo, it is possible that in fact he is not a 971 and
is therefore (still) permitted 7175%. That is why this 70°¥ is merely a X*00 P90 concerning
712172 MO°N.

= INYN 1D KDY 9915 12 $P0IY Y3 DO 1IN 1209 DY)
And later the text should read; ‘what is an 19; in all cases where there
was an intermingling, etc.’ and the text does not read a ‘widow of’ an
170°Y; but merely the word 1o°y itself. The mixture is in the 70°Y (this particular family);

not in the 715X -
= NOIYN NP N2 YILVIVY 55 MvN 19909) 1999N) 9’)37\’)1‘1’: NN 2

And this is also how it is rendered in 25> 7%n; only the word o',
not 70°Y nnoX. And even if the text reads '70°y nawwR'; nevertheless in the

following phrase of '/ y»wiw %2'; the word '72' is referring to the 719°%; and
not to the 77X, The term 10V is fitting only for a community, and not for an individual
such as an mIn9X.

nooIN asks:
= YNYN (x,ny 970v) 20N NIYY 9927 99NN ON)

And if you will say; that it seems from the X372 in ORI 79wy P9D —
= NY097 N2 NN NDOY NMINDN TWINT INI 1I'9NY

that even the one who permits the 772°¥ nibX to marry into 775 (which
would include 2"27 yw° '), nevertheless he admits that the daughter of

the 70°y is disqualified from marrying into 71975, N0 will now show that the one
who is won the 75X is 22 5019, When the X1n3 discusses -
=999 NNN2Y NTHIVAY NDIY NINTNA DTN Y9N RTON 29 9INT NN )

Concerning that which n''= stated; ‘everyone agrees that an 79y ninbs

is s139m1o% M908, ete.” The xm3 comments that the statement of 1" is coming —
— 5 YWIN? 229 PPN 1INT ININ 2311 PIANDY

to exclude from these 2°8in, which we have learnt in a 71w that >''9 and

2"2 9" testified, etc. that an 7oy nMoX is AnA22 77wa.'” This concludes the citation
from the X773, M0N0 concludes his question:

¥ At [the bottom of this Tn¥ and] on top of the "2 Tmy.

° Here 0" R"9, and elsewhere.

19 x7om 21 was referencing a previous Xn™1a taught there, in which there were various opinions. X7om 21
maintains that all of these opinions (who argue in the Xn»12) agree (nonetheless) that an 70°Y NI is 770K,
X701 17 proved his statement by citing 32w (who was the most lenient view in the ¥n°°712) who ruled that
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- 13NYN 19 NP PV M1 39) NAT N XY N1 NN Y 1)
And what difference is there whether she is the mn%»X of an 70V or
whether she is the daughter of the 70°y, for by the daughter there is also
the same K80 780 as there is by the maabx!"

Mmoo answers:

= MIVYIT NPIN NY PN NOIYN NAT MY YN
And one can say; that the daughter of the 7%y has no m w> np; as
opposed to the 10°Y NIAHR who has a M w2 npin from the time before she married into this
10°v. However the 10°¥71 N2 was born into a P90 situation, therefore since she has no npin
mAws, she is 7317707 770K,

Mmoo anticipates a difficulty and resolves it:
= NP9 POUA P71 NNYYAT 2) DY GN)
And even though that generally we are lenient by a Xp°9® pPpo, and we
permit it even without a M w> npn. Therefore, here too by the 710°¥i1 N3, even though she
has no m=w> npm, she should still be A%  #7Ww>, since it is only a np*®0 poY;
nevertheless —
= 1PN VY NHYN NN
Here, for the genealogy of 71372, the 2non instituted a higher level of
stringency and forbade even a Xp*90 P50 from marrying into 71712 —
$N2)9 TNA 2)D NNYYAT 2) Y OGN PWANY 2219 299 Pinnh 798107 9950
Just as later, the X723 requires two pluralities (of M7w>2) to permit

marriage to 71172, even though generally one 211 is sufficient; nevertheless
concerning 71173 we are more stringent, and we require two X217; the same is by a P20
X900, that in addition to the Xp°50 P50, we also require a MWD NPIM.

if you are not permitted to marry someone’s daughter, you are also not permitted to marry his widow.
Therefore, concludes X701 27 that since one may not marry the 79°977 n2, one may not marry the 70y NIMoR
as well. X701 27 offered no proof that a 70°¥77 N2 is 7MOX; he merely presumed it as a universally agreed
upon ruling. The &7n3 then concluded that the ruling of X701 27 that an 70°Y N9 is 770K, is intended to
reject the ruling of > and 2"2>"1 (that were not mentioned in the previous Xn>12), who maintain that nino
7o is nann. According to that X3, the ruling of *"1 and 2"2 °"7 is that an 70°Y NIYR is NN, even
though that the 110°¥i7 N2 is 770K (this is a universally agreed upon ruling). This is what X701 27 is rejecting;
how can 2"2 >" "1 maintain that 79° nIMPX is NN, since even A"2w7 who is the most lenient view,
maintains that 7IMINoX KW 70X OK 702 X1 InR X 23'. Therefore since the 70°wi N2 is 70K the 70 NIN9R
is also 771108, However 2"2 >"1 »" disagree and maintain that the 70°v77 n2 is 770K and the 70°Y NN is
nan. Our mooin asks why should there be a difference between the 70°vi1 n2 and the 70°Y NIMoX.

" Why does X701 27 presume that everyone (including 2"2 > >"3 who maintain that N9 70°Y NIAYK)
agrees that 7M0X 7o'y n2?! See ‘Thinking it over’ # 2.

12.%,10 12p. This is regarding a woman who was 7Y% Y 1701K1; in order that she remains 7117797 7W> there
is a requirement that both the 217 of the city and the 211 of the caravan, which passed through the city, are
m1n3% 0wd, even though that generally one 211 is sufficient.
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SUMMARY

The term 'm0°Y' (according to moon) refers to a family in which a %1 P50 (or
many 2°791 °p00) were intermingled. An offspring of this family is 770K
n19% (for she has no MW npin); however one who married into this family
and became widowed is 7317727 NN, according to 2"2°71 °"1 (since she has a
mMAw> np). A MW npin is required in addition to a XpP*90 P90 in order to be
Na9% nann.

THINKING IT OVER

1. >"w and Moon disagree as to the meaning of 710°Y 7YX, Is this merely a
difference of interpretation; or do they disagree 12%77% as well? [What will
*"w1 and M0N0 maintain is the rule in each other’s scenario?]

2. mooin asks why there is a difference between the 71n9% and the na."” How
will " deal with this question 1nwws?"

13 See footnote # 10.
" See 7w o"An.
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